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 1.   

     1930-1958 .  

 

1959 .-    /( 3  .   . c )      / ( 3  .   . c ) 
 

  

,  [ 3] 

    

qo -   -30  C   

    1930  -  1958 .       1959 .-    

             500                                                     2.44  ( 0.58 )                      - 

             600       2.35  ( 0.56 )                      - 

             700       2.27  ( 0.54 )                      - 

             800       2.23  ( 0.53 )                      - 

             900       2.18  ( 0.52 )                      - 

           1000       2.14  ( 0.51 )             2.73  ( 0.65 ) 

           1100       2.1    ( 0.5 )            2.6    ( 0.62 )  

           1200       2.06  ( 0.49 )            2.52  ( 0.6 ) 

           1300       2.02  ( 0.48 )            2.48  (0.59 ) 

           1400       1.97  ( 0.47 )            2.44  (0.58 ) 

           1500       1.97  ( 0.47 )            2.43  ( 0.57 ) 

           1700       1.93  ( 0.46 )            2.31  ( 0.55 ) 

           2000       1.88  ( 0.45 )            2.26  ( 0.53 ) 

           2500       1.85  ( 0.44 )            2.18  ( 0.52 ) 

           3000       1.81  ( 0.43 )            2.1    ( 0.5 ) 

           3500       1.76  ( 0.42 )            2.05  ( 0.48 ) 

           4000       1.68  ( 0.4 )            1.97  ( 0.47 ) 

           4500       1.64  ( 0.39 )            1.93  ( 0.46 ) 

           5000       1.59  ( 0.38 )            1.93  ( 0.45 )          

           6000       1.55  ( 0.37 )            1.81  ( 0.43 ) 

           7000       1.51  ( 0.36 )            1.8   ( 0.42  ) 

           8000        1.47  ( 0.35 )            1.72  ( 0.41 ) 

            9000                 1.43  ( 0.34 )             1.68  ( 0.4 ) 

          10000         1.38  ( 0.33 )             1.67  ( 0.39 ) 

          11000         1.34  ( 0.32 )             1.6  ( 0.38 ) 

          12000         1.3   ( 0.31 )                1.6  ( 0.38 ) 
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          13000         1.26  ( 0.3 )             1.55  ( 0.37 ) 

          14000         1.26  ( 0.3 )             1.55  ( 0.37 ) 

          15000         1.21  ( 0.29 )             1.55  ( 0.37 ) 

          20000           1.17  ( 0.28 )             1.55  ( 0.37 ) 
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V , [ / ], [x10-3 3/ ] 

48 41 3,5 1,32 

57 50 3,5 1,963 

76 69 3,5 3,739 
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89 81 4 5,153 

108 100 4 7,854 

133 125 4 12,21 

159 150 4,5 17,67 

219 203 8 32,36 

273 257 8 51,9 

273 255 9 51,07 

325 309 8 74,99 

325 307 9 74,02 
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V .   
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/  

  

  500  

4,66 

(19.5) 
16,77 
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4,82 
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(37) 
31,82 


